Samurai Sudoku

29-June-2025

Windmill Sudoku

Windmill sudoku consists of five grids, one in the center and the other 4 overlapping
the central one. This means that the numbers must be placed correctly for all the

five puzzle squares.

(Solution)
4 5 2 6
1 9
1 3|7 4
1 5 213 | 4
8 2 3 8 1
8 1 6 | 8 9
6 | 7 3 5 2
713 5 3|7
9 6 5
4 5 8 3 51816
5 6 2 1 9 4
7 2 | 3 1 2 6 1
4 9 1
3 2 4 913
3 417 9 2
4 5| 8 7 1
51|19 2 7 6
5 2 | 7 1 2 1
3 9 5| 4
© samuraisudoku.com 2 8
5 4 2 1

Sudoku Today ( https://sudoku.today )
Samurai Sudoku ( https://samuraisudoku.com )

https://samuraisudoku.com/g-windmill-sudoku/35192063107.html

Newdoku ( https://newdoku.com )

Sudoku Puzzle ( https://www.sudokupuzzle.org )
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